H & 0l & AHS B Ml A

20233 = =0ilah LB ZME S0

A ZHASW
M NSEH g4zt

SRl A 2N &Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M S 4,124,687 2,489,931 1,634,756
= 384,909
Jl 3,000
AltI 574,870
-l 3,161,908
NSZH 2dat 883,693 84,043 799,650
= 18,000
AltI 11,934
-l 853,759
aHcH 2N = 883,693 84,043 799,650
= 18,000
AlHI 11,934
Tl 853,759
HEAE L AFI ALSEHUSHAEA) 8,000 14,250 26,250
201 er2 3| 8,000 14,250 26,250
01 AtR2te|HI 8,000 14,250 26,250
OANEgtgst 2&E 6,000
ANEALR2HE =
250,000& x84 & S Al &*3 6,000
Od&Elg M& S 2,000,000& 2,000
HEAE F=XtetF N 30,240 0 30,240
= 18,000
Alt] 6,120
Tl 6.120
401 Al HIZL 2048 30,240 0 30,240
= 18,000
Albl 6.120
Tl 6,120
01 Al&H| 30,240 0 30,240
OBYUBSNY BEFXNE 24
30,240,000 30,240
= 18,000
Altl 6.120
Tl 6,120
o 243 MY 17,000 22,000 25,000
201 er2 3| 4,000 0 4,000
01 At2tltl 4,000 0 4,000
ISV 4,000,002 4,000
301 LEtE N = 3,000 0 3,000
11 #AIAMHIXIZ S 3,000 0 3,000
OR= HSAIE HIXI0H 3,000,000& 3,000
307 @12t01 & 10,000 0 10,000
02 QB AANEER 10,000 0 10,000




A FHESH
a5 R s a5
Sel: A BN H (2912
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBl 24520l eigtsl X
10,000,000 10,000
HSAE ANEE 2l 200 200
201 ZBt=Ehl 200 200
02 S3=gHl 200 200
OCHUMIIIAIE afolel2 NERYFES
200,000& 200
Kg 2okt 16,625 19,645 A3,020
101 @124H| 7,965 13,640 ADb,675
M IRNZZENSE 7,965 13,640 Ab,675
OSM2UH 29 7,965
E=atall 86, 12023 +52+63 7,751
LEEBERES 7,751,000& *1.75% 136
MHEERES 7,751,000 * 1% 78
201 2= 350 350
01 At2t2lt] 350 350
O=ot&el 22= M& 350,000 350
203 HR=H| 3,510 810 2,700
03 A=A FAIH| 3,510 810 2,700
Oty g4 450,000 *90fk 405
OXNSZB N 245t =
450,000 *90% 405
OZH2zt= g2Fd 3,000,000 *90% 2,700
301 EtE NS 4,800 4,845 N5
14 JIEt2d=3 4,800 4,845 N5
OMeIMblARS HEHA Ald 4,800
AL NZES
30,0003 #507H 2= #22] 3,000
S IEEA XHES
30,0003 *60IH A 1,800
HSAE SHSHXIZAAS 11,628 8,406 3,222
AlHI 5,814
Tl 5,814
307 elzto| & 11,628 8,406 3,222
AltI 5,814
-l 5,814
02 2IZHBYAIHE A 11,628 8,406 3,222
020238 MSAE HHSHAIZ AL
11,628,000& 11,628
AlHI 5,814
Tl 5,814
CINE dd2UlaA AlEA 800,000 800,000
308 XHXIEMSO0IH 800,000 800,000
11 SIS0t oA A A 800,000 800,000




2A:

X XH -
o=

M E N
KNS 2dat

SRl A 2N &Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OURXE H4ASUIYA AIEAIZE (24XH)
800,000,000& 800,000
AP ES 547,510 22,940 524,570
= 16,250
AltI 3,000
-l 528,260
ASaky AS 547,510 22,940 524,570
= 16,250
AlHI 3,000
Tl 528,260
JIggdst A& 3,010 2,940 70
201 eer23y| 2,200 2,130 70
01 AtR2t2|HI 2,000 2,000 0
OXIZAIZ 2SS 2,000,000 2,000
02 s3=gHl 200 130 70
OZ2ZAESE =2 ISKRLYFLES
200,000 200
203 HP=H] 810 810
03 A=A 2= 810 810
OJIgXH 2435t =8 900,000 *90% 810
FAHES XIS XA 20,000 10,000 10,000
= 14,000
Alt] 3,000
Tl 3,000
401 Al HIZ 2018 20,000 10,000 10,000
= 14,000
Al 3,000
Tl 3,000
01 Al&HI 20,000 10,000 10,000
OMASE LEDWMSBAL 20,000,000 20,000
= 14,000
AlHI 3,000
Tl 3,000
LPGEI| AFZIt+ AN 4,500 0 4,500
= 2,250
- 2,250
403 MR SHHMSAH=01H 4,500 0 4,500
= 2,250
Tl 2,250
02 SISOt =2 A P E A I 4,500 0 4,500
OLPGEI| AtEIt= AIEORA
4,500,000 4,500
= 2,250




A BHA S
M peEE
ol NFay AS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| 24| 2,250
Xateh g8 S (ST XH) 400,000 0 400,000
307 21201 & 400,000 400,000
02 LB AANHEE 400,000 400,000
Odsrstat gAY X2 400,000,000 400,000
JIEX& 120,000 0 120,000
201 er23| 120,000 120,000
01 Al22t2lH] 120,000 120,000
OMRIER U BAJIY B2 S
120,000,000 120,000
s =SNg 25 602,996 450,805 162,191
= 164,801
) 3,000
AlH] 176,784
T4l 258,411
=4 S 602,99 450,805 152,191
= 164,801
Jl 3,000
AlHI 176,784
-l 258,411
=lls= 2l 65,000 65,000 0
AlHI 25,000
Tl 40,000
307 212+01™ 65,000 65,000 0
Al 25,000
Tl 40,000
05 2IZtAE = 65,000 65,000 0
OlgRIIA /AETEE 200,000 *755 15,000
ORJISE AEE= 100,000 #5005 50,000
AltI 25,000
-l 25,000
S=E2SSXUHHA 16,800 15,000 1,800
= 5,040
AlHI 5,880
Tl 5,880
307 el2to| & 16,800 15,000 1,800
= 5,040
AlH] 5,880
Tl 5,880
05 21t =S 16,800 15,000 1,800
OSEESFAUHAIL
100,000 1685 16,800
= 5,040




SN BHTED
M = Y B
e = - S0 ZEIG (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 5,880
-4l 5,880
RS2 LdlE XA 1,500 1,500 0
= 750
AlBI 375
-4l 375
307 2I2+01A 1,500 1,500 0
= 750
Albl 375
sl 375
02 QB AAIEER 1,500 1,500 0
ORIISS ALY X<
150,000& * 10 1,500
= 750
Altl 375
sl 375
s=2s8 10,800 9,740 1,060
201 L2 AH| 10,400 9,740 660
01 AtR2elt] 10,400 9,740 660
O=s=88 &al 10,400
- OI0I122& Al=H| 10,0002 6005 6,000
=58 & 1,100&*1,000& 1,100
s=a2l 29 66,0003 #5004 2~ 3,300
301 LetEHZ 400 400
14 JIEtE A2 400 400
OSESTEANLAY BS2Y
50,0003 *4H x23| 400
2020 S48 == N 160,000 160,000 0
= 32,000
Albl 64,000
-4l 64,000
307 212+01 A 160,000 160,000 0
= 32,000
AlHI 64,000
-4l 64,000
05 2I2tRES 160,000 160,000 0
OZ120| =43t ==X=&
160,000,000& 160,000
= 32,000
Albl 64,000
-4l 64,000
Z2020| SHEF NJAMA 2= 1,000 0 1,000
Altl 800




2A: ZMEED
M = Y B
e = - S0 ZEIG (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
sl 200
201 B2 AY| 1,000 0 1,000
Altl 800
=t 200
01 A=R2teld| 1,000 0 1,000
OZ 0| 43 XENHH =5
1,000,000& 1,000
Al 800
-4l 200
22 29 4,800 4,800 0
Altl 2,400
sl 2,400
201 L2 AY| 4,800 4,800 0
Altl 2,400
=t 2,400
01 A=R2teld| 4,800 4,800 0
O3=2 =4 4,800,000& 4,800
Albl 2,400
-4l 2,400
ZAY oeEE Al=dl XA 3,000 3,000 0
307 212+01 A 3,000 3,000
05 QIZtRIEr S 3,000 3,000
OZdg HYES Alsdl X
2,000&*1,5005 3,000
AN3IE X BteisE KR 1,050 1,050 0
Altl 525
sl 525
307 2I2+0l ™ 1,050 1,050 0
AlBI 525
-4l 525
02 QIZHBAAIEER 1,050 1,050 0
OAIg| & <X} Bt ESE X EH| X
1,050,000& 1,050
Altl 525
sl 525
THS =AY AtF 2] 10,000 10,000 0
201 B2 AY| 10,000 10,000
01 A=R2teld| 10,000 10,000
OJs&gy 22| 10,000,000 10,000
SN2 = ZAE 800 800 0
= 400
AlHI 280
=t 120




SN BHTED
3N - =MY 25
e = - S0 ZEIG (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 800 800 0
= 400
Albl 280
Tl 120
01 MHZH| 800 800 0
O=4tE = A A= 800,000 800
= 400
AlHI 280
-l 120
SIIE HIZ(HEAY) 1,935 1,935 0
Alt] 474
Tl 1,461
307 glztol & 1,935 1,935 0
AlHI 474
Tl 1,461
02 2IZHBYAIHE & 1,935 1,935 0
Oz (RIE)HIE N
1,935,000& 1,935
AltI 474
-l 1,461
sgel Holletd SHE K& 2,400 2,824 NA24
Al 1,200
Tl 1,200
307 212t01™ 2,400 2,824 N424
AlHI 1,200
Tl 1,200
02 2B YA E X 2,400 2,824 N424
O=gol Molietd sHE A&
2,400,000& 2,400
AltI 1,200
-l 1,200
28 SHH=EM 3,000 3,000 0
Jl 3,000
301 LEtE N = 3,000 3,000 0
) 3,000
14 IIEt2 8= 3,000 3,000 0
OsdM=E=s NS 3,000,000& 3,000
Jl 3,000
CN=Y 2483 XA (HEAY) 59,600 84,500 24,900
Alt] 30,300
Tl 29,300
201 er23 | 1,000 0 1,000
AlHI 1,000




SN BHTED
3N - =MY 25
e = - S0 ZEIG (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,000 0 1,000
OEAN=sg 24 1,000,000& 1,000
AlHI 1,000
206 MH=HI 1,000 0 1,000
Alt] 500
Tl 500
01 MHZH| 1,000 0 1,000
(OFSE= =E=INDN IDN L 1,000,000& 1,000
AlHI 500
Tl 500
307 @I2t0| & 57,600 84,500 A\26,900
AlHI 28,800
Tl 28,800
02 LB MAHEE 57,600 84,500 226,900
OEASaEE =4 24,000,000 24,000
Al 12,000
Tl 12,000
Ostusg x4 19,200,000& 19,200
AlHI 9,600
Tl 9,600
OEAl=Y 1S 9,600,000& 9,600
AlHI 4,800
Tl 4,800
OAMEH AHE HE =4
4,800,000 4,800
AlHI 2,400
Tl 2,400
sEME X gdEt 1,500 1,500 0
AltI 1,500
201 er23 | 1,500 1,500 0
AlHI 1,500
01 AtR2tc|Hl 1,500 1,500 0
OZNcHEH HE2S S 1,500,000& 1,500
Al 1,500
sotE = A 200 200 0
206 M=l 200 200
01 M=4l 200 200
OsdtE2 =1 A AIE 200,000& 200
E2HEH X 187 0 187
= 149
AlHI 19
-l 19
307 21201 & 187 0 187




2A: ZMEED
M = Y B
e = - S0 ZEIG (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 149
AltI 19
=t 19
02 QIZHAAAIHE X 187 0 187
OELMNEH XA 187,000& 187
= 149
AlHI 19
el 19
TS Sud B2ra XA 60,924 85,956 A25,032
= 30,462
AlHI 15,231
sl 15,231
307 QI2Hol 60,924 85,956 A25,032
= 30,462
Alt| 15,231
sl 15,231
02 QIZHAAAIEE R 60,924 85,956 A25,032
OZE S=2nd WY X
60,924,000 60,924
= 30,462
Al 15,231
-4 15,231
LS A SLE KA 192,000 0 192,000
= 96,000
Al 28,800
-4l 67,200
307 212+01 A 192,000 0 192,000
= 96,000
AlHI 28,800
-4l 67,200
02 QIZHBAAIEER 192,000 0 192,000
Ogite FsAEAS X2
192,000,000& 192,000
= 96,000
Al 28,800
=4l 67,200
sKzel 6,500 6,500
201 Let2| 6,500 6,500
01 Ar2eltl 6,500 6,500
O=sXds &4
100,000 108 63| 6,000
Osk=Ids 23| 500,000& 500
SRS DB AN 2,013,636 1,846,909 166,727
= 185,858




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 383,152
Tl 1,444,626
=0T B4 1,638,336 1,711,079 ANT2,743
= 104,758
Albl 310,302
Tl 1,223,276
OB R (MEATY) 150,000 100,000 50,000
Altl 75,000
Tl 75,000
206 MH=HI 150,000 100,000 50,000
AlHI 75,000
Tl 75,000
01 MZH| 150,000 100,000 50,000
Ox=¢tEAt Y g= 150,000,000 150,000
AltI 75,000
Tl 75,000
2 SEH2M P X2 (HEAY) 7,344 9,504 A2,160
Altl 4,080
Tl 3,264
307 212+01& 7,344 9,504 2,160
Alt] 4,080
Tl 3,264
02 2IZHBHAIHE £ 7,344 9,504 A2,160
O& gdxelu 7 XN
7,344,000& 7,344
AltI 4,080
-l 3,264
LB g 5 X3 6,400 6,048 352
Albl 3,200
Tl 3,200
307 212+01& 6,400 6,048 352
Alt] 3,200
Tl 3,200
02 LB HAHE L 6,400 6,048 352
OoL&ENgel = 2 6,400,000 6,400
AlHI 3,200
Tl 3,200
NG = 2tel 102,178 106,525 N3,347
201 fer=2 3| 101,726 85,525 16,201
01 AtR2t2lHl 7,148 7,248 A100
OZfX U= S 100,000 5 »23] 1,000
Osg0d XcHs A
8,000& »4E 100 3,200




A BHA S
HE: ALY D KA
el AR B (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONNEHE B2 28
500,000 500
ORZHl =2 154,000& 122 1,848
Odl= 78 50,000& * 122 600
2 S52g4l 94,578 78,277 16,301
OXte - &8 RX2el 84,080
HHFA 4,577
-=4 201,8198+22& 4,441
—Atd 73,3467 *1.85& 136
2= X 26,917
—=8(2E8) 26,62921*9000+ 23,967
-XtH (1.858) 11,7993 %2500+ 2,950
HESH &7 43,0012 +23.858 1,026
CEETY 51,560
-22(2E)
1,999.383 *0000+& *192A1 2++0. 125 43,187
-FLR(1.868)
1,926.85& 25005 +06 A1 2+0. 112 5,180
-HR(SFHI+6.6%) 48,367,000 6. 6% 3,193
Osdeg=s el 200,000 +5& 1,000
O=32=  HAl 7,698
=N S AIE= 70,0002 128 840
I AlE= 28,0502~ 122 337
FEEE ANEZ 32,9902~ 128 3%
I EMEEE 1,700,000 1,700
- N2 SH 4,425,000 4,425
OSagliEtl |Al 1,800,000 1,800
405 AtatsE = 452 452
01 TR ESFSHI 452 452
OO =d ol HED Wi
452,000& 452
NS EA=E 19,620 7,850 1,770
201 er2 3| 17,720 5,950 1,770
01 At2tlt] 17,720 5,950 1,770
OO0 W M= 500,000 500
O==&SJAX] QHE HIZ
2,500 *300% 750
O=¢dt2te SHHEXE FRIE4
3,500,000 3,500
OBIZAAL HIZ 500,000 500
O=sbt2tet AL S0 KIS
70,0002 10 700
OTXoIHA IS M 1,770
- SItE 11,0002 »1,0000H 11,000




SN BHTSD
HE: ALY D KA
Rl ARHE SA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
22F 770,000 770
203 YREAY| 900 900
0B A =ZIQRE=ZIY| 900 900
OBt BA5 J2E7
1,000, 0002 *90% 900
308 AFAIEHMSOIE 1,000 1,000
12 JEREgs 1,000 1,000
O=S80Y &I 2X3
1,000,000 1,000
AL A AR = 3,420 12,392 A8,972
= 1,710
Al 1,710
402 2IZtA=01d 3,420 12,392 N\B,972
= 1,710
AlH] 1,710
02 QI AHE AL E R (01X THE) 3,420 12,392 8,972
OOl AL HAIAE DS
3,420,000& 3,420
= 1,710
AltI 1,710
LA0IE JIBAIE X 29,152 32,181 23,029
AlHI 7,288
Tl 21,864
307 el2tol & 29,152 32,181 23,029
AlH] 7,288
Tl 21,864
02 QIZHEAAEE X 29,152 32,181 23,029
OLAIE JIBAIE X1
29,152,000& 29,152
Albl 7,288
Tl 21,864
gz 2el 86,426 104,504 18,078
101 @124H| 33,374 52,172 18,798
M ORINZZE2NSE S 33,374 52,172 18,798
OZEE JIZtH 22 A+ 22 33,374
- QIABI(FEXEE)
86, 1203 »2H 282 +6E 28,937
- =XEE 300,000 *2&H 600
- HESIH 300,000& 2 600
-mUASEE=s 28,937,000& *4. 5% 1,303
-RUALEEE 28,937,000 %3.495% 1,012
- RATER 1,012,0002%12.27% 125
CIEEEE 28,937,000 *1.75% 507
AHEES 28,937,000 * 1% 290




A BHA S
HE: ALY D KA
el AR B (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 53,052 52,332 720
01 At2teltl 13,800 13,800 0
oEgzy 2el 13,800
foIgH == 150,000& * 12043 1,800
Das sEA o sABe S
12,000,000& 12,000
2 S5=24g4l 30,252 38,532 720
OdEE7 S8R= 30,252
o= 2,000,000& *12& 24,000
ol R= 2,000,0002 6 12,000
Sz 71,0003 * 122 852
sZ012el 2,400,000 2,400
o AlE Ed 25,000 25,000
401 Al HIZL 201 25,000 25,000
01 Al&HI 25,000 25,000
O0g AME= RA 2= 25,000,000& 25,000
gt HUXZ2Z & 25 194,000 194,000 0
= 97,000
AlH] 97,000
402 2I2F X201 & 194,000 194,000 0
= 97,000
AlHI 97,000
02 QI EASEX(0IETHR) 194,000 194,000 0
Oozletd HUHXZEZEH 23
194,000,000 194,000
= 97,000
AlHI 97,000
0218 (ERE 300AH 756,000 540,000 216,000
403 AXIEHMSAH=01d 756,000 540,000 216,000
02 SI|12ASOITH St =2 A P E A I 756,000 540,000 216,000
020219 0E=E 300AtS (BEIE)
756,000,000 756,000
280d RFH XM 220,000 141,400 78,600
Al 110,000
Tl 110,000
307 glztol & 220,000 141,400 78,600
AlHI 110,000
Tl 110,000
02 2B YAIHE £ 220,000 141,400 78,600
O280d 7=l N3 AL
220,000,000 220,000
AltI 110,000
-l 110,000




2A: ZMEED
HE: ALY D KA
Rl ARHE SA EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
=3RS A XA 3,200 3,200
302 Ol Mol a2 3,200 3,200
02 QIZtCITHoH Y S P& s 24t 3,200 3,200
Ox4H3s EWA A& 3,200
o124l 60,0002 x20H 1,200
=S4l 100,000& *20Y 2,000
20k Ay 122 X3 22,500 0 22,500
Al 9,000
-4l 13,500
307 212+01 A 22,500 0 22,500
Altl 9,000
sl 13,500
02 QIZtBAAIE E R 22,500 0 22,500
OmeH LAY 2 Xg
22,500,000& 22,500
Altl 9,000
=t 13,500
Zetd 25 B33 12,096 0 12,096
= 6,048
Altl 3,024
=t 3,024
307 212+01™ 12,096 0 12,096
= 6,048
Altl 3,024
sl 3,024
02 QIZHBAAIHE R 12,096 0 12,096
Oratd 22 BZK& 12,09,000& 12,096
= 6,048
Altl 3,024
sl 3,024
ZEE 22 B2 X3 Ml 1,000 1,000
307 212+01™ 1,000 1,000
05 QIZIRIErZ 1,000 1,000
OneA 2E 2IN Hel)
1,000,000& 1,000
e Fl 375,300 135,830 239,470
= 81,100
Altl 72,850
=t 221,350
gxiMer Mel X (MeAIY) 7,000 13,000 6,000
Albl 5,250
=4l 1,750
401 Al HIZL S 0HY| 7,000 13,000 6,000




2A: ZMEED
HE: ALY D KA
&Pl oirard Hdl (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 5,250
-4l 1,750
01 Al&Hl 7,000 13,000 26,000
Ogxider el K& 7,000,000& 7,000
Alt] 5,250
sl 1,750
HE=2HOIZ Ml XI& 30,000 30,000 0
AltI 9,000
=t 21,000
401 A& HIZLS0HY| 30,000 30,000 0
Al 9,000
-4l 21,000
01 Al&HI 30,000 30,000 0
OOUEHDIE Hal X
30,000,000 30,000
AltI 9,000
sl 21,000
AT QIMY I =0 (HEAIY) 60,000 60,000 0
AltI 30,000
=t 30,000
307 gIzHol 60,000 60,000 0
Al 30,000
=4l 30,000
05 2I2tRES 60,000 60,000 0
OZUZE IAM|I| 20f
60,000,000& 60,000
AltI 30,000
sl 30,000
HLYESHSA 22(BAEX) 58,300 27,130 31,170
= 41,100
Al 8,600
-4 8,600
201 2| 31,300 14,130 17,170
= 22,000
AlHI 4,650
-4l 4,650
01 AtR222lt| 31,300 14,130 17,170
OgEsne 2efas 2
2,800,000& 2,800
= 2,000
Al 400
-4l 400
olgeEs1y =2 28,500,000& 28,500
= 20,000




SN BHTSD
HE: ALY D KA
&Pl oirard Hdl (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AlH] 4,250
Tl 4,250
202 04l 3,000 3,000 0
= 2,100
Al 450
Tl 450
01 2LHoIH 3,000 3,000 0
Oeasal & WsEIt 3,000,000& 3,000
= 2,100
Albl 450
Tl 450
206 MH=HI 10,000 10,000 0
= 7,000
Altl 1,500
Tl 1,500
01 MHZHI 10,000 10,000 0
O=&SA Y= 10,000,000 10,000
= 7,000
AltI 1,500
-l 1,500
401 AIEHIZ R HYI 14,000 0 14,000
= 10,000
AltI 2,000
-l 2,000
01 A28l 14,000 0 14,000
OolEES S oI =HKel
14,000,000 14,000
= 10,000
AlHI 2,000
-l 2,000
PG EEIPNRS 140,000 140,000
401 AIEHIZ SR 0HYI 140,000 140,000
01 Al&HI 140,000 140,000
ooghnaH =l =g 140,000,000 140,000
HICHREXIZ 0l KIZALS 80,000 0 80,000
= 40,000
Altl 20,000
Tl 20,000
101 e124d| 78,200 0 78,200
= 39,100
AltI 19,550
-l 19,550
04 JIZtN2 2N S 2+ 78,200 0 78,200




A BHA S
=AY DJE &4
ol ofleretE Ei EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ottt Xz 0l K& 78,200,000 78,200
= 39,100
Albl 19,550
Tl 19,550
201 er23| 1,800 0 1,800
= 900
Albl 450
Tl 450
01 AtR2telbl 1,800 0 1,800
Otttre@3 X1z ol X 1,800,000 1,800
= 900
AltI 450
-l 450
AH2IIHI(SBHE=D) 76,852 85,234 18,382
Jl=3H| 76,852 85,234 A\8,382
Jl=23H] 76,852 85,234 N\8,382
201 er23| 19,432 17,410 2,022
01 AtR2t2|HI 19,432 17,410 2,022
ORNEg=+3HI 8,424,000& 8,424
O=54 244 640,000& 640
OJlz=gf=d S| 10,368,000 10,368
202 04l 50,400 63,504 13,104
01 2LHoIH 50,400 63,504 A13,104
OJl2g R0l
280,000 «30E «6& 50,400
203 HR=4AY] 7,020 4,320 2,700
01 I 22 HIR S| 2,700 0 2,700
OJ|22g8 Y24 3,000,000 *90% 2,700
M FA2ELRFAI 4,320 4,320 0
ORNSgERF=AHI 4,800,000 *90% 4,320




